QuEesTioN 2  Circle the like terms.

¢ 9x, 3a, 5x

f 3( 5m, 5l

a 3b,5a, 9a b 4x, by, 6x
d 9a, 3d, 6a e 8y, 3a, 3y
g 3d, 2c, 5¢ h 9, 8, 5x

i 10y, y, x

QuEsTION 1 Collect like terms to simplify the following.

a a+a+a+a+b+b= b X+x+X+x+V+y+y+y=
¢ CcHc+ct+c+eo+d= d m+n+n+n=

e pHp+p+q+q+qg= f [+l+1+1+1+1l+m+m=

g€ u+tut+u+ut+ut+u+v= h e+e+e+f+f=

QuESTION 3 Simplify the following.

a yv+y= — b x+x+x+x= C m4+m+m+m+m=
d a+a+a= e I+l+l+1+1+1]= f n+n+n+n=

g 2d+3d-= h Sk+2k+k= i 3a +7a=
QuesTion 3 Simplify the following.

a 2x+3x= b a+a+a+a= C y+y+y+y+y+y=__
d y+y+y+y= e m+m+m+m+m=____ f c+c+c+c=
g 3d+9d= h 9k+3k+7k= i ba+1la=
QuEsTION 4 Simplify the following expressions.

a I18x-3x= b 15b - 12b = ¢ 24a - 12a =
d 17a-"Ta= e I5x — 6x = f 12a — 3a =
g 9m-m= h 14p-2p-= i 10y —x =

QUESTION 2 Simplify the following by collecting like terms.

a dx+9+2x+7=

¢ Sa+3b+da=

e Tm+8n+9m=

g Sd+3a+9d+5a=

b

d

8a+9+T7a+3=

Sx+ 2y+2x=

2x+3y+5x+8y=

8x+15+6a+6=




QuesTION 3 Simplify the following.

a

C

15a—6a+9a+b=

Sm+Tn+8m—-3n=

Ox+7Ty—-3x+2y=

I8x+35x+9=

14/ —6/+5m+18m —9m =

QuesTiION 4 Simplify the following.

8x+7y—6x—-3y=

Sp=3p+12¢-Tg=

9p—Tp+8g—6¢g=

15abc — 12abc =

Sx+8y+9x—-3y—-2v=

a 27xy-2lxy= 18xyz—12xyz=

¢ 18abc—l4abc = 2la+31b+4la=

e 8x2)‘+7x2y—2x2y: 8a’ +7a° —3a°> =

g Sx7 48kt 247 = 24a” +18b” —12a° =

i 7ab+9ab +8abc — 3abc = 5a?b+ 81+ Ta*h -3l =

k 6)(2)‘2 + 8y + 4x2),'2 + 3y = 9a°b* + 6a°b* — Ta’b* +8ab=

m  16ab”> +8a’b—12ab> = 150z + 4y + 300z =3y =

QuesTion &  Collect like terms and simplify.

a ab+bc—ab-bc+ac= 9a’b —5ab® — 3ab® +2a°h =

¢ 9x°+10x* —3x" = 19xyz + 6y + 4xyz —5y =

e 18xyz+15xyz—4xy = 36a° +15b° — 14a° =

g  8x°y+9x+4x7y’ +6x = 9a® +8a® — 3b° +6b° =

7 Simplity these expressions by collecting the like terms.
a k+2+k+3 b 7c+4+5c+1 ¢ 8p+3g+p+Tq
d 8m+5n+m—4n e S5t+12-2r+4 f 8u+9—-3u—v
m x+y—4x—7Ty n —6a+2b+5a+ 10b o —5/—12k+15j— 4k

P x%+6x+2x2+ 3x q 7a*>+a*+a-4a r 9u—4u®—u?+3u



